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The'(A)'negative'sign'in'Faraday’s'Law'is'an'important'reminder.'
'
'
'
'
'
Lenz’s'Law:''The'induced'EMF'tends'to'induce'a''
current'in'the'direction'which'opposes'the''
changes'in'Magnetic'Flux.'
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A'loop'of'wire'is'sitting'in'a'uniform,'constant'magnet'field''as'
shown.''Suddenly,'the'loop'is'bent'into'a'smaller'area'loop.''During'
the'bending'of'the'loop,'the'induced'current'in'the'loop'is'...'
A:'zero' ''
B:'clockwise ' ''
C:'counterclockwise'
'

B(in) B(in)

Answer:'Clockwise.''The'flux'into'the'page'is'decreasing*as'the'
loop'area'decreases.''To'fight'the'decrease,'we'want'the'
induced'B'to'add'to'the'original'B.'By'the'right'hand'rule'
(version'II)','a'clockwise'induced'current'will'make'an'induced'B'
into'the'page,'adding'to'the'original'B.'



A'currentAcarrying'wire'is'pulled'
away'from'a'conducting'loop'in'the'
direction'shown.'As'the'wire'is'
moving,'is'there'a'clockwise'current'
around'the'loop,'a'counterclockwise'
current'or'no'current?'

A. There is a clockwise current around the loop. 
B. There is a counterclockwise current around the loop. 
C. There is no current around the loop. 

















SelfAInductance'(L)'of'a'coil'of'wire'

LiB ≡Φ

i
L BΦ≡

This'equation'defines'selfAinductance.'
'
Note'that'since'ΦB'α'i,'L'must'be'
independent'of'the'current'i.'

L'has'units'[L]'='[Tesla'meter2]/[Amperes]''
New'unit'for'inductance'='[Henry].'







What'does'inductance'tell'us?'
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Φ L'is'independent'of'time.'

Depends'only'on'geometry'of'inductor''
(like'capacitance).'
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Changing'the'current'in'an'inductor'creates'an'
EMF'which'opposes'the'change'in'the'current.'
Sometimes'called'�back'EMF�'


